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’ ’ Uo Uc y ab
Uz , U > U C Uo = W b < Uc,
D , C , : 4 -14 Uo
, , , C
) RL=°°( ) Uo= 2U, =1 4U,, R # o ,
C RL y UO 1RL ) )
Uo = U ( )
(4 - 10)
o:l 2U2( )
(4 - 10) , , R> (10 15)-=,
T
R Cz (3 5)% (4-11)
T
, ( 180¢), ,
’ y 2U2,
W , 2 2U; ,
: : 2 U,
4-3 , 4 - 16 f=50
Hz, R =120Q, 0o=30V,

104 -



_1,_1U 1 30, _
|D—2|o—2RL—2X120A—125mA
Uo=12U,,
_Uo _30,,_
U2_1.2_1 V=25V
Uprw = 2U, = 2x 25V =35V
lom= lp, Urw= Uprm 4 3 3.1, 2CP1
C
_ ey L _1_ 1 _
R C=5x 5 T= f_50_0 02 s,

_1 T__1 002__

C= R 5 > = 120 5x 5 F=417p F
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R L, 4 -17
, L :
( ) ,
Uo=09U, (4-12)
4-17
1 ( L )’
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Uo Uo Uo , 1,
, R , U, , Uo
: U, , Uo , 2
, R , Uo ,
Uo :
: , R : Uo Uo
, , R ,
Uo :
U, = Uo
L = (15 3) loma (4 - 13)
U =(2 3) U
4-4 , 4-19 R. 3 kQ,
U =45V Uo =15V, Dz
Uo =15V , (4 - 13)
U= Uo =15V
Uo=15V R =3 kQ ,
lo mac = :" =%3mA=5 mA
(4 - 13) |2 max =3 lomax =15 MA
, 2CW?20, U,=(135 17) V, ;=
5 mA, lzm =15 MA
4-5 4 - 20 , U; =12 V, lzma =18 MA, I, =5 mA, R =
2 kQ, + 20% : ,
U, R
V, U, U
, R U, :
: 2 me 12 , U, U
] 20%, 12U Iz = lzmax = 18 MA 4.0 4.5
I = 1z + |0 =18+ﬁ
R
= 18+1?2 mA =24 mA
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(2)
(3)
(4)
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Uo
4-4
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8V
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0.7V)
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4-5 4-5 ?
4 -4
4-6 4-6 , Ui
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4-8 4-8 ,
) Uo
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2
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4-10 4-10 , Dz
Uo
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4-9
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4-12 (1)
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oy ?
(4) ?
4-13 4 - 13 Uor Uoz ,
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RL UO ’

(1) Up=28V:(2) Up=24V;(3) Uy=18V:(4) Ug=9V;

4-13
2.
4-15 4-15 EWB
4-16 4 -16
lba= - UWp = 2 USh wt,
; (1) Ua Up I
Uo 1 (2) U, ( ), Ul I ( )5 (3)
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111 -



511

NPN PNP

(E)
PN

112 -

51

PN

(B) (OF

NPN

PN

PNP



NPN
, 5 = 2 y UBB ]
Rs B E —
( )1 UBB UCC ’
Rc C E —
( )1 UCC ’ E
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5-1
5-1
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B'|3‘0.04‘52’ B_IB_O.OG_SZB
IB IC ]
Ale e - les 317-208_109_
B_A le  Ies - les 006-004 O .02‘54 D
: BB
512
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|B= f(UBE)|UCE: (5‘1)
5-3 N PN , :
(l) 13 ” 113 ” ’ UBE ’ 5 UBE
, s Use UT(
) 05V, Use=06 0.7V, U- 02V,
02 03V PNP , Use -06 -0.7V
-02 -03V
(2) , Uece >1V , Uce =1V , Uce >
1V , Is , Uce 1V( ),
Ue=1V
2.
B y lc Uce )
5-3 5-4
lc = f(UCE)llB: (5-2)
5-4 NPN T , |
(1)
IB =O , ) UBES O
, Ve > Ve Vg lc= O( lceo ),
(2)
Uce < Uge ) Ve >
Ve > Ve B ) lc ) Uce = Usge
, Uces )
_ Uce - Uces _ Uecc -0 .7~ Ucc
les =g == (5 - 3)
|
s =5 (5 - 4)
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IB < IBS ’

> lgs )
, Uce 03V, 0.1V, Uce 0,
(3)
) ’ VC>
Ve > Ve c B A |C:BA|B,
, e lc s ) Uce
5-1 T, V., =+10 V,
V,=0V,V,=+0.7V, 5-5(a) i P Ve = +0V, V,=-03YV,
V,= -5V, 5-5(b) . T XYz ?
5-5 5-1
NPN Ve > Ve > Ve, PNP Ve < Vg <
VEy ) ) ) )
() ,z vy 07V, : Vi>V,>V,, X Y
Z , Ve > Ve > Ve , N PN
(b) ,x vy 03V, : V, < V, < Vi, y4 ,
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5-6 5-2
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|
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B
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B
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B:
_IC'ICEO IC
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B B
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UCE y )
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B B :
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(3)
Pew
c Uce
70 100 )
Pew
Pew = Uce lc )
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(2)
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I ,
(3)
Ues 1o Uss
lo = F( Uos) |u-
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Ues ,
( , ): 5-14(a)
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(2)

gm UDS - ] ugs iD y
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(3)
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+
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Re
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) Ie =Bib
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- Q ) leo lco lceo
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Uze
02 03V ) Uee , Use
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2. Q

(1) l.o  Useo
5-16(b)
Uce = Re s + Uee
Use B
le = f(Uee)|u-
Uee - e
Q  5-17(a ,Q
. Useo
(2) leco  Uceo
5-16(b) :
Uce = Re lc + Uce
le = f( Uee) | -
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5-17(b)
IBQ y
Q 5-17(b) , Q
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INe
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UCE y
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5-21(a) 5 - 16(a)

C G , Ucc
5-21(a)
| 5- 21(b)
5-21
3.
(1) A
. 5-21(h)
5- 21(b)
U= -B(R R)Is
U = lp e
U -B(R R)b R.
_ 0 - 5-21
A Ui Ioe |o B Foe ( )
Rl = R R ; A )
( RL) (Auo)s
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A = -Br— (5 - 22)
(5-21) (5-22), R.
RL ] )
R
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5-23 5-24
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U,
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5 - 16(a) 5 - 24 ,
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o = = R (5 - 27)
|’0 Ug=0,R =
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Uo,
U, =——u i 5-28
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) 1 rO
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C , 5 - 28(d)

, Re C 5-28(d) Ri=Rs: Re
Uy = -BR. I
Ri= R R
Ui = Ie lo (5'31)
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U, loe |o IMoe
Ui Ui
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Uce = Uce - R le= (12- 4% 16)V:5 6V

5 - 30
4x 4
W (B)(R R) WO
" e+ (L+B)(Re R) 4x 477
0 97+ (1+40)x 37
rbe:300+(1+[3)%: 300+(1+40)% Q=0 97 kQ
_ _ 1
i =Rse [met(1+B)(Re R)] = 1 1
+
R R
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Re + R Rs 4 097+120><01
M R + R I+ 120+ 0 1
56
, 1 mw
5-32

140 -



561
5-33 G
( ).
5-34
’ 5- 33
5-34
5-6 5-35(8.) , Re: =300 kQ, Re: =3 kQ, Re, =

141 -



40k§2,Rc2=2k§2,R53=20k§2,R52=3.3k§2,RL=2m,Ucc:12V T1 Tz
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f2= R Ra [l = : -—1 =14k
y i2 B2 3 be2 1 R 1 .\ 1 i+i+L E
Re» R: e 40 20 16
3x 1 4
51x
As = 3+31x'41 =097
13+51><3+1.4
2% 2
N ocB(Re R ovp
2= INoe2 16
A= Au A, =097x (-31)=-30
Ui 1
h =—= Re [rbe1+(1+B)(RE1 riz)]: 1 1
| * Rexx r
E1l i2
I’be1+(1+B)RE1+ri2
- 1 kQ = 43 kQ
=7 ; 1 —
300 3x 14
1 3+51x 371 4
[0 = Rc2=2 kQ
562
1.
5-36 , u =0, T,
T, ) Uces = Ua = Ue;
=UB|52=0.7V, T1 ; )
) ] B2
T, ,
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5- 37
5-37(a) Re. T, ) LB
T, ) le2 Re:
) REZ ’ )
5 - 37(b) D. ( D) U,
REZ ’ ( ) !
2.
: ( )
: 5- 38
5-38
57
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T,

, Rez



5.71

5-39 , Re
1.
5-39 (ur = u, =0), ) ler = le2, lcx =
leoy, Ua = Uc, U = Ucr - U, =0
5-39 5-40
Uo =A U - A Ue O;
2.
, ( 5-39)
(1)
( Ui = U2 ),
) Uo =A Uct - A W, =0,
(2)
( Ui = - U2), us <0,
u. >0, Uiz T. A g, A g ; A Ua ; U
T, A g, Ac, , A U, )
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) AU():AUc1'('AUc2)=2AUc1,

(3) ( )
Ui = Ud + Uec
Uz = - Ug + U
Uig , Uic
e = U:s + U2
? (5-39)
Uy = Us - U
2
U: =9mV,u,=-3mV, U.=3mV, us=6mV
3. Re
: : Re,
2 Re : , Re
; , Re ;
; Re , 5 -
40 : 5-40
; , : Re
: Re ; :
5.7 2
1.
5-41 - ’
Ve ; cT,
R T: T, Au Az, Au = Ae Ui =%,
]
T2
5-42 Au
Uiy Re + Ibe
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_ Uoi - U2 _ 2 Uoy Uo1
Aoa = U: - Ug a 2 Uy U
R.
P R —
AO = -
‘ R + re
2.
A
, Uo =0, A:. =0
Ao Ax
(Common Mode Regection Ratio) :
_ A
KCMR - AOC
) ,
Ao :0, Kemr = 0
573 -
- : 5-43(a)
- , 5 - 43(hb) :

(5 - 40)

] KCMR

(5-41)
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5-43(c)

5-43
, 5-43(a) (c)
Tl :%U|+%UI=UI

1 1

T, :EU|'?U|:O
, 5-43(a) (b)

Uo )
Aodz

Uo
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T, T,
ﬂ
2 1)
T,
1. R R
2[3 RB + rbe
Uo T,

(5 - 42)

Uo



U 5-43(a) (b) : :

, A ic ,
2 ReA ic A i , 2 Re

Uor 'B(Rc RL)
T Uuc Re+ e + (1+B)*% 2Re

Aw Re+ e+ (1+PB)x 2Re

Aoc 2( RB + rbe)
A # O, Kewr
# oo | Ao, Kewr ,
Re
Ts
, 5- 44
Ts
Acc= 0, Kevr= o0
5-44 Re . Re
T, T> , Re
, , 5-44
RP ’ RD !
58
581
1.
(1)

N,

5-43(a) (b)
(5 - 43)
(5 - 44)
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(2)

(3)

(4)

(1)

(2)

(3)
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U(BR) CEO ,

lc

PCM
P,,
P,
N =%
Q
360, Q
50%
¢, Q
5 - 45(b)
0 120 , Q
5-45 Q

5 - 45(a)

Ic: O,

- 45(c)

Pe ,



582

OTL (Output Transformer Less) ;
: OCL (Output Capacitor Less) :

: OCL
: OCL
1. (OCL)
(1)
5-46 OCL
(NPN  PNP) ,
R : ,
(u=0), , , ls =0, Ic =0,
(uz 0), u>0 | T , T2 , R 5- 46
et , R Us ; u<0o T, , T1
, R o , R Uo ;
: Uo T. T, :
5-46 OCL
(2)
P,
Uom ,
2 2
P, = U°2m R%=%x Lé‘im (5 - 45)
Pe
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Pe 1

Pe = Ucc lac
Uom 1
—X
) ’ R_ ’ =
UOm
Pe = P = nl" R U (5 - 46)
2 Uom
P: = Pe:r + Pe2 = —X cc
Tt R.
n
. P P |
1, Usr
n = 2 R :EX Uom
2)( Uom UCC 4 UCC
Tt R.
’r] Uom, Uom , Po ’r]
! UOM: Ucc, ,
N =5 =78 5%
Uz
Pou = i =
2 R
(3)
2  Uom 1 Ui,
Pr=Pe - P, =X RLx UCC'EX R
1
Pa = Pe = E Pr
. P Uw |
Prm P: Uom ’ ’
dPT 2 UCC Uom 2
d Uom B Tt RL ) RL O’ ’ Uom - UCC,
2 2 2
— Ucc = Uce )
2 TT 1 11 2 U 4
™ :Fx RL X UCC = E RL :T[—Z)( R(ic :T? POM: 0 -4 POM
Uz
Pav = Pew :T[izx RCC: 0 2 Pow
L
(4)
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Pcwm U(BR)CEO lem

o> Ucc
cm 2 R,
Usryceo = 2 Ucc (5-48)
Pev = 0 .2 Pom
) ’ 2UCC
5-7 5-46 , 8Q 20 W
) ] UCC Uom 5 V, UCC,
, n, )
Ucc
1 Uin
P, = —X , Um= 2P, R = 2x20x8V=17 9V
2 R
Ue - Um >5, Uce> (17 9+5)V =22 9V, Uec =23 V
UOm
Pe: = Pe Zix Ucc=i>< 17 9>< 23W=16 4 W
Tt R, I 8
P P,
= 20 =61%

N =P 2P, 2x 16 4

U ?
PClM:PCZM:iQX CC::L); 23W:6 71W
11 R 8

U
cc _23 A =2 88 mA

lew2 "R~ =g
U(BR)CEOZ 2Ucc =2x 23 V=46V

1 U 1 23
=0 2x —/—Xx W=6.71W

Pcv= 0 2Pom =0 2x 3 R > 3
(5)
Ube UT 1 | ubel
< U- A B P , ) ’
, 5-147 ,
5-48 , , ,
) 5-47
5-48 , T, T, e
= |c2 ) RL , UE = O )
D. D, , Ty T, :
153 -
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’ Tl y T2 ’ ’ Tl ’ T2 y
5-48 5-49
2. (OTL)
5-49 OTL
R
OTL OCL
) ; lceor = lceoe
o Ue, =% Uec
, C. , U
Ucc C ; Ui T2
R C ,
C )
1 2/Ucc
OCL P, P:n )
OTL
3.
(1)
T1 T2
T, ,T1 CE Tz BE
PNP NPN

1 2/Ucc

’ RL

OoTL

C

VA:_UCC,

T, T,
T2 , G T2
R C.
1 2/Ucc , 11

UCC ’

T>
CB
5-50

T,



(2)

583

L M386

Ta

R:

ICEO

B1 B2,

B= B.B:
, T2

Ts Ta

OCL OTL

-50(b) (¢

NPN PNP
5-51
’ R5

- 51
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:OTL
5 18V
4 mA
:50 kQ
1 W( U, =16 V, R =32Q)
:26 46 dB
:300 kHz
02 %
2.
L M386 5-52
5-52 LM386
2 .3 ; 5 ,
8 : 7
3.
5-53 LM386 :
1 8 : 26 dB, 20
R G
5-53 LM386
G Uce 2,
R,
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_ 2 Ucc
Pom = R S8R
Uece=16V R =32Q Pwm=1W ,
U = = V= 283 mV
A, 2 2x 20
5-54 LM386 , 1 8
’O:) ] Q
200 Ue=16V R =32Q P,=1W |
5-54 LM386
59
591
5-55 N
] RGl RGZ
Rs , , Cs
RG )
C. G
1.
y RG
__ Reo
UG_R61+RGZ Ubb 5-55

MOS

28 3 mV
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. Ues Ucswin € Uss< O ,
_ Uss °
lo = Toss 1 - Ucs(of)
(5-49)  (5-50) lo , Uss
Uos = U - (RD+ &) lo
5-56
2.
5 - 56(a) 5 - 56(b)
(1) A ( )
U, R, | R . 0On Ugs
Au: = - Ld:_ Lg g='ngL
U U Ugs
; Ri=R R
(2) I
h=—=Rs+(Ra Rsu)= Re
) RG y
h = Re: Rez)
(3) o
las rh= Ro
5-8 5-55

Uss = Us - Us= Us - R lp

loss =1 MA UGs(oﬁ) = -5 V, Om =0 312 ms,

(5 - 49)

D

(5 - 50)

(5 - 51)

5-55

(5 - 52)

(5 - 53)

(5 - 54)

Rs: = 150 kQ, Rs2

=50 kKQ, Re =1 MQ, Rs=10kQ, R, =10 kQ, Re =10 kQ , Upp = +20 V
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Res 50
Re: + R R o

Hoa = Ve U =150 +50

UDD -

Io

x 20-10 Ib =5-10 Ip



UGS ’ UGS ’
= - = X
ID IDSS 1 UGS(off) 1 1 * 5

UGs:5'1O|D

2

Ues
5

= 1+

lo

() Uss=-114V,1b=164mA;( ) Uss=-11V,1,b=0 61 mA

() Uss < Uss(om ,
Uss=-11V, b =061mA
Uos = U - (Ro+ R) 1o =[20- (10+10)x 0 61] V=7 8V
( 5- 56(b))

_ _ _ 10x 10 _
Av= -0 RL=- (R RL)—-O.312><10+1O—-1.56(

Re)= 1000+229%50 161 04 MO~ R

= R+ (Re 150 + 50
0= RD = 10 kQ
592 _
5 - 57(a) ,
5 - 57(h) 5 - 57(c)

5-57
R.= R R
Uo:RLId:RLgngs
Ugs= Ui = Uo

Uo: RLgm(Ui - Uo)
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Uo gm RL

A = — = (5 - 55)
U 1+g.R.
5 - 57(h) = Ra Re (5 - 56)
ro=—1+ZjnRS:RS é (5-57)
: 1, 1;
1.
5-1 (1) ?
(2) ?
(3) lc ? ?
(4) B =50, lgo = HA; B =150, I = 50HA,
?
(5) Pow =100 MW, lay =20 mA, Ugeryoso = 15 V,
? Ue=3V,Ic=10mA; Ug=2V,Ic=40mA; Ug=6YV, Ic=20mA
5-2 U, U, U
NPN PNP  ? ? EBC
(1) Uy=35V,U,=28V,Us =12 V (2) Uy=3V,U,=28V,U; =12V
(3) Uy=6V,U,=11 3V, U, =12 V (4 U, =6V,U, =118V, U; =12 V
5-3 5-3
(1)
(2) NPN PNP EBC
5-3 5- 4
(3) B
5-4 5-4 ? ?
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10V, lc=2 mA )
5-6

Ui

U=0V (2) Ui=3V (3) U =5V

(1)

(2)

(3)

(4)

MOS 5- 8(a)
V 12 V

(1)
(2)
(3)
(4)

(5)
(6)

Ues(an ( Up)

,MOS

 leeo, Ueryceo , Pov B ( U =

?

Ucsiny ( Ut)

5- 8(b)

R

) (1)

U=4V 8
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? ?
5-10
5-11 5-11(a) , : (b) :
? ?
5-11 5-12
5-12 5-12 Rs =560 kQ, Re =4 kQ =50, R =4 kQ,Rs=1 kQ, Ux =12 V, Us =
20 mV ?
(1) Ue =8 V,Uge =0 7 V, I =20p A Auzoif 11 4
_20x 10°° B
(2) = % 10° 10_69-1039_110
(3) Aus:'BRL:'SOX4:-200
I 1
_ _4x 4
(4) =R R =7,K=2
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(1)
(2)
(3)
(1)
(2)
(1)
(2)
(3)
(4)
(1)
(2)

(3) 5-39

(4)
(5)

(6)
(1)
(2)
(3)
(4)
(5)
OCL

(1)

(2) Rm Re RwD

(3) D

R

OTL
, T1
?
?
1Tl T2
R
Uses =2V,

, Uec=12 V, R =8Q

?

Ce

?

5-

20

163 -



5-20 5-20 , Ui ,RL=16Q, 10 W, Uces

(1) Ucc
(2) Ucc lem  U¢eryceo
(3)
(4)
(5)
2.
5-21 5-21 , B=50,Re=32K,RR=320kQ,Rs=100Q, R =6 8 kQ, U
=15V :(1) - (2) , A, 1 1,;(3) EDA
5-21 5-22
5-22 5 - 22 (1) Uxc=12V,R =3k ,B =75, e 15mA, Rs
2 (2) R 0, ? ?
(3) EDA
5-23 5-23 , Ucc:24v,R31:33m,R52:10k§2,RE:1.5k§2,Rc:
33kQ,R =5 1kQ,p =686, - (1) £ (2) ,
(3) , R
(4) EDA
5-23 5-24
5-24  5-24 — (1) (2) U =20



V, Rs =330 kQ, Re =10 kQ ,B =50,

5-25 5-25 Ue =20V, R =200kQ, Re =3 9kQ,R, =15 IKQ ,p =60,
(1) ; (2) :
(3) EDA
5-25 5-26
5-26 5-26 , Uec=12V, Rs=280kQ, R-= Re =2kQ, r.,=1 4 k2, =100,
(1) A Auol ,(2) B Auoz
:(3) A B , ,
5-27 5-27 , U =12V, Ry =500 KO, Rs;, =200 kQ, R, = 6 kQ,
R:=3kK2, R =2 K2, B 40 (1) ;1 (2) )
5-28 5-28 , Uop =18 V, Re1 =250 kQ, R =50 kQ, Re =1 MQ ,Rp =5 kQ, Rs =
5kQ,R =5kQ, g, =5mA V (1) (lo,Ups) (2) ,
5-27 5-28
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(Msl),

611

166 -

(LSI)

61

(VLSI)

SSOR



200 PF
3.
uO, ’
6-2
6-2(a) , (b)
6-3 EDA
)
6-3 EDA
612

167 -



(1) Ui
Uo Upo Ui :
Uo 1uVv 20 mV, FO07 Uo 1 5mV
(2) Lo
, ler e lo, lo=]le - le2], lo
, o lio 1nA 01
WA, F007 1o 50 100 nA
2.
(1) A
Ao ,
A =20 Ig a U, (6 - 1)
A(U; - Uy)
, Ao : 80 140 dB, 10" 10 FOO7 A 100
106 dB
(2) Uldmax
Uidmax :
, NPN Udme * 5V ,
PNP Uicmax + 30 V
(3) fg
Al
JFO07 1 2 MQ, , Tig 100 MQ
3.
(1) Kemr
,FO07  Kcwe 80 86 dB,
Kewr 180 dB
(2) Uicmac

168 -



Uicmax

65 V ub

120 mW

613

(Uo.  Uo.

FOO7

Uo

+ 13V

Uo -

Ao:

UO+

Uo.-

- Uo.

u.

100 dB,

FOO7

I+

(6 -2)
10 V

169 -



FOO7, As =10,

1Yol 10, _
u. - u. = A, —105V—O.1mv
2.
(1)
Aod—>00;
lid - 00
ro—>0;
KCMR—>OO;
UIO ||o ,
(2)
6-5
Uo = Awa( U: - U.)
AOd—’OO, u. - Uu. =O,
u = u
lig — , I
. =1. =0
O u. =u. u. u
. =1. =0 [ ,
[ig > 00, . = 1. =0;( )

uO¢ AOd(u+ - U_ ),
u. > u. , Uo = Uos ;
u. < u. , Uo = Uo.

170 -

(6 -3)
(6-4)
(6 -5)



u. = Uu. Uo- Us.

! R=R=10kQ, R = R =50
kgz’

__uR 10x10 ., _
U = R + R ~50+10MV=167mV

U+ = U
._O'u____u_uo
I, = R, =y = R . .
_ R D 8010
uo_1+R1 u. = 1+10><6 mV =10 mV
6 2
621
1.
) 6_7
6-7
A =4
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Xa=Xi - X
X ,
X X
Aso : ( )
_ %
Axo—xd
X X
X,
Axf=7
X X , K :
Xs
Fo=—
X
AKX XX A
Xf_><i_xd+><f_1+xfxd_1+FxAxo
Axf Axo Fx
2.
) y |Axf|<|Ax0|,
FxAxol 1|A><f| ) |1+ FXAXO'
, : (6 - 10)
Ao 1
A= E Al T F
11+ FAo| <1 | A]> | Al
, |1+ FKAo| =0, A — ,
( )
3.
4 .
5.
’ ul Ud

172 -

(6 - 6)

(6-7)

(6 -8)

(6-9)

(6 - 10)

|1+ FkAo| >1 |1+
|1+ FcAo|m 1

(6 - 11)



622

6 - 8(b)

, 6-9(a)

W< U,

R,

R

6 - 8(a)

R

Ud:u'u‘,uf

U
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6 - 9(b) , u

R, R, R U,
’ Ug > u ’ ’
6 -9(c) : I
Rz if u. ) ii = id + if, id
I :
3.
, 6-10(a) , , Uo
6 - 10(b) | ,
6-10
4 .
: 6-11(a) ;
6 - 11(b) ( )
5.
(1)
6-12
R ) , Uo =0, ’
’ y ul ud
uf ; ’
ui uf ) 1
(2)

174 -

=i - i,

Ur , Us

g < i,

Uo =0),



Us , ; )
’ ’ U
6 - 12
(3)
6-14 : R
’ ’ id
id If )
y id Il )
6-14
(4)
6-15 : R ,
y y ii
’ It ii y Ii ’

Ui

R,

Uq

R,

175 -



6 - 16( )

623
1.
(6 - 10) Ao
dAxf _ (1+ FxAxo) - FxAxo _ 1
dA. (1+ F AL T (1+ F A0’
(6 - 10),
dAs 1 dAo
Ar 1+ FA. A (6-12)
1 A+ FeAo) 1+ F,A0=100 , Ao + 10 %, A +01%
(6 - 11) , A A : :
2.
, 6-17 U ) ,
! 6- 17(a) ) Ur UO
y Ud y
6-17(b)
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Uo

Xd

I

6 3

I

lo

Fo

Fo

I

- 18

18
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1.
6-19
, R=
u =FR
Rf:R]_,
’ uO
2.

178 -

R ,
: N ,
R,
i]_:If
=u. =0
U - U U
R R
'Uo_ Uo
R R
'%ui (6'13)
Uo = - U
U )
6-20(a), * "
i1=|f

""" R TR R
_ Unv - Uo _ U - Uo
lr = Rf = R
R
Uo = 1+E U

=1i. =0) ,
"(u. = u.)
uhn=1i+ R =0

le =

(6 - 14)

(6 - 15)



, Re ( )
6 - 20(b) , ,
Ri=c R =0,
Uo = U (6 - 16)
632
1.
6-21
i+ i + i = s
U . W . Us : Uo
) Il:ﬁ IZZE IB:E If:-E

U1 U. Us

Uo = - R R1+R2+F\’«, (6-17)
R=R=R =R,
R
Uo = '_R(u1+ui2+Ui3) (6 -18)
R=R=R=R ,
Uo = - (U1 + Uz + Us) (6 - 19)
2.
: 6 - 22 ih = i
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Rl Rf
__Uiz'U+_U+
""" R "R
U =U+:UN
.. R R R
Uo = 1+ Rl R2 " R3 U, - Rl U1 (6' 20)
RlzRZZ%:Rf ]
Uo = U2 - Uz (6' 21)
633
1.
6 - 23
. N B _i _GdUc
, Il—lf—Rl, Il = dt
uo:-ucz-é ifdt:-Q—lRJ’ udt (6 - 22)
U, t=0 ,
U,
=gt (6 - 23)
6-23
, . 6-24
2.
6'25 1
13 b1} ” ,u+ - u_ :O’ 113 ”’ UC: ul’
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634

I Ic ClW:Ci_
uO:'Rif: RfQ—
) 6'26
6-26

(6 - 24)
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Uos - U = 1+ . U
14+ R R R
Uo R R+ R Uoz - R,
R
=— (U= - U
Rz( 02 01)
R 2R
= - — +— -
Uo = 1 R, U
y R:’ )
AD552 AD624
635
33 R C
R C
1.
6 -27 )
N U, U, U,
u (.k) = =
U9)=5=0 U
U, R
’ =1+_=Auo
U+ Rl
( Auo 1
1
U. jwC 1
U, R+A_1+j(x)RC
jwC
1
W ="RC
U. _ 1
Ui 1+j 2
0
A (j©) = Aw 1w
1+j—
Wo

182 -

Ui

(6 - 25)

(6 - 26)



AUO

| Au(jw) | = ” (6 - 27)
0
1+ —
0o
6 - 27 6- 28
, 6-28 , W < Wo , o= U, W > W , U= O,
, 6-29
, RC , 6 - 30
6 - 29 6 - 30
2.
] 6'27
C , 6-31
N O 1 ]
A (jw) = 0 Auol 1 (6 - 28)
Joouéo
_a . R __1
Ao =1+ @0 ="Rre
. 1
| Au (jw) | = Aw N (6 - 29)
1+
W oo
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AW =Wy - W, ,

- 33

32

34

WH

,(A)l_

WH



641

Un =O,
u|>0 UO=UO+,

u <0 U = Uo. ,

:UR’
u > Ur

u < Ukg

Uo
: 6 - 37(a)
U < UR ’ Uo :O’

6 - 37(c)

Uo = Uo_

6 4

A0

6 - 35(a) :

6 - 35(b)
6 - 36

6 - 36(a) : u,
Ue
Uo = Uo+ , ;

6 - 36(b)

u>Usr ,U=U; 6 - 37(b)

: ( 1 0)

(A D)
( ) :

U,

185 -

Un



u-

u-

3.
Uv = U. ,

U

’ uO:+UZ,U+
U
U

’ uO='UZ,U+
U

R.
Uv = Us , U,

186 -

( ) :
6 - 38(a) ,
o = Uz,
R
u., =+ mUz
R
Ur =% muz
6 - 38(b)
Ur y U
+ U
+ Ur ,
+ U; - U;
Ur y Un
- uT
- uT ,
6 - 38
- Uz + Uz
Ur, 6 - 39(a)
R R,
= U
Y RAR VTR AR
R R.
Urs =

u,



R. R

uTzszR +muz

6 - 39(b) ) Ur2 y Urs )
Ur2 - Um: ,
6 -39
, ,AD790 LM119 LM193 MC1414 MAX900 ,
TTL CMOS ,
642
, RC
6 - 40(a) . 6-40(hb)
6 - 40
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U, Uc Uo R Ur2
Uc > Ur , Uo = - Uz;

Uc < Ur2 , Uo = + Uz

u —Lu
R2_R1+R2 O
6-41
6 - 41
R,
, Ub =+ Uz, uc =0, URZ:mUZ,
,UC
==, = K u
UC_R1+RZZ_ 1 , Uo - z, Ur
R .
" " R+R ’ ’ o+ U
- Uz, , 6 - 41(b) ,
R
Uc Uc:'R+R2Uz=K2 , Uo - Uz
1
+ U, 6-42
, RC
, T, T,,
2
T.=T,=RCIn 1+ R 6-42

R

2
T=T,+ T.=2 RCIn 1+ FISZ
1

188 -

6 - 41(a)



65

, , 6 -
43
651
6 - 43
2
1.
uO, ]
Ui ,
( : , 6 - 43
UO ) u01
, U = Fuuo = U
b = Au=AUu=AFuU
AR, =1 (6 - 30)
1 ALI FU
, (6 - 30) , ,
|Au| (pA' |Fu| (szlAJFul ((p/_\+(p|:):l 0)
| AR | =1 (6 - 31)
Qr +Qe=x2m (n=0,1,2, ) (6 - 32)
21
| ARy | 1, ,
(6 - 31) ,
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| AF.|>1 (6 - 33)

6-44 IAUFUI Ui(Uf) ) )
2. RC
- LC
RC
) RC LC 6_44
RC : 6 - 45
(331 )
_._ L
6 - 46 , w—ooo—RC ,
6-45 RC 6-46 RC
Hw)=13% :
¢ (w)=0( )
652
, 1 Hz
1 MHz , 6 - 47
RC : W=w ,0(w)=0C :
> 360°
ceym ey = L _1
RC -(L)—(k)o—RC ,Fu—3, ’ |AuFu|>
R
1, ] Al >3 A =1+—, R>2R
R,
, , R R, ,

190 -



R

66

) Rt )
R,
M PC741
661
1.
M A741,
1 mV
:80 nA
75 Q
25 mA
MA741 6 - 48
, 7 , 8
2. LM324
LM324 4
2 mV
45 nA
TuVv [/

1Rt ’

CA741 LM741 MC741 PM741 SG741 CF/741 pA741

:20 nA

2% 10°

2 MQ

17 mA

15 | 4 6 -48 PA741

5 nA
100 dB
3-30V

191 -



15 15V : S00pu A

LM324 6 - 49 11 : 4
6 - 49 LM324
3. OPO7
OPO7(LM 714) : :
10p VvV :0 7 nA
0 2pV / + 22V
500 pu A
OP07 6 -50 1 8 , 4
6 - 50 OPO7 6-51 LFH11
4 JFET LF411
L F411 JFET :
L F411 D A
0 8mV
25 pA
Tuv [/
50 pA
10° Q - 1 8mA
-30 +30V
+-145 +145V
4 MHz
L F411 6 - 51 15 , 4

192 -



662

1. LM119
, 2 36V + 18
V, , TTL LED LM219,
LM319 LM139 LM239 LM339 LM119
LM119 6 - 52 11 , 6
: 3 1 : 8 2
2. LM119 6-52 LMI119
LM119 6 - 53(a)
‘ " ( ) :
, 6 - 53(b)
6- 53 LM119
663
ICL8038
(10 30V), (x5 £ 15V)
0 001 Hz 300 kHz, 2% 98%,
1% 6-54
6 - 55 |CL8038 : :
RC1 RPZ ) PPl ) R33 R34

193 -



(1)

(2)
(3)
194 -

6 -54

ICL8038

ICL8038



(4)

(1)

(a.

(2)

(3)

(a.

(4)

(a.

(5)

(1)

(2)

(1)

(a.

(2)

(a.

(1)

(2)
(3)

(4)
(1)

A= =
‘b.
'b.
'b.
)
'b.
'b.
?
Axf: 1 Fx1
d .
d .
v oox)
A)(f:1 FX!
60 dB,

FX:1 A)(f1

Ax

195 -



(2) 20 000,
(3) : 15 dB,

(1)
(a. b ;C. ;d . e. )

(2) (a. ‘b . C.
(3)

(4) -

(1) y=a Xt & X+ & X ( &

(2) y=Db X + b, x; - by X ( b,

(3) : : -

b

(a. b . ;C . d . e .

dA, A, 20%,
d Axf Axf 1% y Axf = 100, Ax l:X ’)

R=R=R=R , Up = ?

, ) Uy Uoe Ues

Uo

196 -

Uo

(a.



6-13 A A ) Uc(O):O
(1) Uo ;
(2) RZ=R=R =R =R=R=R |, Uo
6-13
6-14 , : U,
6-14
6'15 1 T Rf’ ]
W_ R+R+R+R R
Ui R,
6-16 , 12V, U =6V, Ui
+ 3V Ug +2V OV -2V Uo

197 -



o o O

8 b &

198 -

+ 13V,

1vA,

C=0.1pF, R =100 Q,

100 A, R

Re

Up =0.7

0 20kQ,



711

(1)

U

(2)
(3)
(1)
(2)

712

71
Uo
Uo
0
AU, UoX 100 %

U,

199 -



Ue (
T
T c-e
Uo
( lo
Uo ,
+ R) = FyUo
UF UREF
e Uce
o )
, A
Fu , Uo
Uo
Uo
713

’ UREF ) R1 RZ
)
R :
U,
)
Us= U R (/R 7-1
( Fu )
y UB Ic
Uo y UO 1
Us = Au( Urer - Fu Uo): Uo
A
Uo = UREFm
] |1 + Au I:U |m 1 ]
Urer
Uo = =
Uo Urer y Fu
T Fu Urer
) UCE y
) ) 7 = 1
’ y UO

, AD DA

MC1403 MC1503 TL431

200 -

Awo

UREF



TL431

25 36V; , 020
7-2(a)
2 A,
T, , I,
, TL431
Urer ,
7-2
714
220 V ,

7-2(b)
25 24V
UREF

TL431

TL431

, TL431

, TL431

201 -



7 2

721
, 7800 7800 7800
, 56,7,8,9,10, 12, 15,18, 20 24V 11 5
, 7800 15A,78M00 O 5A,78L0O0 O01A,78T00 3 A,78H00 5A 7900
7800
7-4 ,
L M7805 LM7905
| 2 3V [
C G G 0 33uF, G 1uF
7 22
, LM117 LM217 LM317 , LM137 LM237
LM337 :
, 125 37V ,
LM317 , 15A , 7 -
5 125 37V
R
Uo = Uker 1+E
, Uger =1 25V R =240Q, R =2 4 kQ, 1375V

202 -



723
2 3V ;
, 7805 15A 4 5
W, Micrel M1C29150,
33V5v 12V : 15A, 7800 , 7805
, 15A 350 mV, 600 mV ;
+ 2 %; 26 V, 20 ppm /, - 40
125 ; (-20 60V)
56V, 50V, 09w, 4 5W ,
: M 1C29150 7805
73
(PC = Uce Io) ) (r] =P, B =Uolo Y I|) 40 % 60 %,
UCES CEO ) )
80 % 90 %,
1.
7-6 , LC
(ur) C :
(PWM),
U, , Us Us T U,
Us ((Up) Us , T U, T D

203 -



, Lot T

204 -

Us

Ue
D
i U(W) W
, T = bn + tu
7-6 Us (Up) i Uo

R



, Ur < Urer, Ua

tOrI tO tOf'l
Uoz?(ul' UCES)+(' UD) -F: U, T
=t 7T ,
Uo
Ust , Ur = Fu Ut = Urer, Ua
Us g=50 %, Uur Us Ue 7 - 8(a)
UO ] uF > UREF1 UA 1 UA
: Us : g<50 %,
Ue 7 - 8(b) , Ui , Uo
q>50 % , Uo ) U, R
7-8 7-6 U Ug Ur U Ug
fr 10 100 kHz fr
2. PWM
PWM ,
PWM , ’ ,
(AC-DC ), (DC - DC
(1) PWM MAX668

= CIU|

U,

Uo

)

C
U
Ur
Use: , Ur
, U
L C

205 -

Us



MAX668 MAXIM :

PWM : (Uo - U) Y, : Uo U
: CMOS
MA X668
(100 500 kHz), 3 28V, 28 V
: 5V 12 V, 1A
7-9 MAX668
MA X668
1,LDO, 5V : 1pF
2,FREQ,
3,GND,
4, REF,1 25V , 50uA
5,FB, , FB 125V
6,CS+, : CS+ PGND
7,PGND,
8, EXT, MOSFET
9, Ucc : 01pF
10, SYNC SHDN :
,DC - DC
,DC - DC FREQ

(2) TOP Switch

206 -

Power Integration

(220pA),

92 %



PWM

TOP200 204 214; TOP221 217

U2

85 265V (AC),

C——

10 KHz
2% 67 %
-03 8V
145
15Q
7-10
, 85 265V

TOP

2 100W TOP CMOS

S—

36 700V

100 mA

-40 150
500u A

TOP220Y Al 12V 30 W

7-10 TOP Switch

T

TOP

R G Ds

207 -

U3



(1)
(2)
(3)

(4)

(5)
(6)
(7)
(8)
(9)

(10)

(1)

(2)

RPl

Uz
2U;
- 200 mA,
(
6V,
,18,20,24)
Dz 53V,
( ):
Ro U =15V, R
RP ’ LJO = 9
3 W7800

R =R, =200Q,

Ue =0 7V

18



7-3

, , CW7815, CW7915, , 15V

7-5 7-5 , U, =6V, R = R, =6 kQ, R, =10 kQ,

(1) Uo 2

(2) Re A B )

7-5

7-6 7-6 ,U; =6V, R =2KQ, R =1 K, R=09KkQ,U =30V,

B=80, :(1) Uo (2) Uo=15V,R =150Q

I
7-7 , 7-7 R=1K,R=3K,R=15

K, R=3kQ, Ry =3 kQ, Uo

7-6 7-7

209 -



811

(d)
- 210 -

81

8 - 1(a),
PN
P

8-2(a)

[

PNPN
A P

(

8 - 2(b)

8- 2(c)

)G

S]

-2



T. T,

T,
Ty

812

" )
N PN
)
B1 lc )
BiB2 ls

Ua

8- 3
PNP

T1

Ty

1T1

1V
T,

T:

G

T2

211 -

(

1Tl



(

PN

(1)

(2)

ls)

IGl

IGZ

H

oa , b ,
( 13
y IA UA
la, la < Iy,
Iy
Us
le
800 V, s =5 mA
200 V; le = 15
5V
8-4
Oc ,
’ UBR(
F
y F, 50 A IF 50 A

In
Tt

lr = é' X I sin wtd(wt) =



(3)

(4)

(5)

(6)

12V

821

y UFRM
Us
FSM
; ]
; [
KP200 - 18F
’ u2
T
a )
(

UFRM

URRM

Usr

80%
ls
6V
KPO -0O0O,
(
200 A
8 2
8 - 5(a)
U, T
)

100 A

Uso 80%
P
) ] ] A
1800 V,
T

URRM

UFRM URRM

o9V

8 - 5(b)

Us ,

04

a

Us

213 -



a :
Tt , W , a . b ,
T , o =0, Uo =0
) 8 - 5(b) 0 =11 -0
3.
w = 2U,9n wt , R
a ,
Uo =§ 2Uzsinu)td(u)t)=E2U2(l+cosa)
=0 45 U, ~+280 (8- 1)
(8 -1) , a=0 (6=m) , Uo =
045 U,, :
a =1, Uo =0, 0 =0,
, R 8-5
_Uo U21 + cosa
lo=—5- =045~ (8- 2)
8-1 , 8Q, U, =220 V,
a 60° 18C°,
a 60 (8- 1)
, =045 U, TFosa
2
=0 45% 220 %zm 25 V
1800 a 60 180 ,
74 25 0V
: (8-2)
U
f=lo = R:3:748'25A:9.28A
Uy = Usn = 2U, = 2x 220V =311 V
2 3 600 V
4
L R , 8-6

214 -



U , a
D
8-6
5 _
8 -7 |
T , Re a,
8-7
822
1.
8'8(8.) )
T: T2
2.
’ Uz (a 1b )1Tl Dl
,  wt=a Us T, : a->T. > R - D
- b, T2 D W , T1 ,
Us (a b ), T. D . wt=m+a
Us T, , b-T,. - R -D, - a, T, D:
U , T2 : U, : R
: 8 - 8(b)
8-8(b)
Uo =0 9 U, 1H528 (8-3)

215 -



(8 - 3) ., a=0 (0=m)  Uo=009U,,
a =1, Uo =0, 6 =0,
’ RL
_Uo U, 1+ cosa
lo = R, =009 R 5
1
IT:ID:EIO
2 U,
83
y uGl
831
1.
: 8-9(a)
PN E, B. B,
2.
8 -9(c) :
PN Res 2 15 kQ B B

216 -

(8-4)

(8 -5)

Us

8 - 9(b)

Res = Rei + Rez, D

UBB ’ A Bl



RBl

S
UABl ~ Ry + Re Ues =N Uee (8 - 6)
M , : 05 009 N
8-9

Ue = f(Ie) 8 - 10(a)

, B B Es Uss C-
Re E B
8-10
Ue <NUs + Upb (Uo PN ), PN ,
, , 8-10(b) aP
Ue =NUss + Up 8 - 10(b) P,
Us I PN , = , Ue e
, , 8 - 10(b) PV
Vv Uy Iy e , Ue
, , , Vv ,
Us< U,

217 -



Ur = Up + Unei= Uper =N Uge (8-7)
, Up n Usgs
Uy Uy=2 5V (Ug =20V)
BT31 BT32 BT33 BT 3 ,

100 200 300 mW

832
RC : ,
8-11(a)
8-11
S , R C ( C )
U T =RC Uc U
, R, , R 50
100Q : C , : R
Us U , U< Uy ( )
, Us ;
, : C , R
Us , 8 - 11(b)
R( C) , 8-11
(b) t; Us ,
a
8-11
R,
| 3. 12 , 8 -12



D.
8 -
T,
U
( :
y u2 ’
PN
Us1
8 - 14(c)
[ 8 - 14(c)],

D,

),
UBB

C
8 - 14(b)

, D2

8 - 14(a)

Ds

1D2

T,

D. D,
Ds

T,

Uo

219 -



8 - 14(d)
Re

Re

50 A

200 :

220 -

01 1pF

JFK -3

90 900
BT33
T,

8-15

8 4

Uo

800 1000

JFK - 3

50 100Q

8-15

Dz

R (47 kQ),

R



, 8 - 16
( 8 - 16
FU1), , ,
(
8- 16 FU2),
R ( 8-16
FU3)
8- 16
’ a ,50 Hz
157 , 100 A 150 A
2.
, LC
: 8- 17
( 8-17 G R)
( 8-17 GCGR) 8- 17
( 8-17 GCR)
85
851
8- 18

221 -



1

Uy = ;]‘— ( 2 Usin wt)?dot
= U, %sin 20 +— (8- 8)
, U (8- 8)
a , a Uo
852
8- 19 N PN PN ,
Aj_ AZ G, ]
(1) G ,
(2) , :
8- 19
100 A 141 A(  100x 2A), 45A
), 100 A 45 A
3CTS KS
8- 20 D T
20 , R R G : G
D D T G
’ C‘Q 7C\Q ’

222 -

141 A (

45 Ax



) D ’ T RPl T y Rl RPZ Cl

8-20 8-21
D 2CTS ; KS 400 V ,
, G G 160 V, 05w
86
1.
, 8- 22 —_ — :
50 Hz u Ud, fo
Uo ] Ud ’ ’ Ud
, W,
; 50 Hz
8-22 —_ —
2.
. 8-23 , (GTO),
( )7 1 )
: 8 - 23(a) : Uq T, T,
T2 T4 y UO y 8 = 23(b) y Ud,
fo ) iO lb )

223 -



D: Ds T1 Ta , o

, lo , D, - - D,
] ] IO uO
8-23
( ) ,
8 7 (
871
M OS (P- MOSFET) MOS (MCT)
(GTR)
MOS (P - MOSFET)
P P- MOSFET , P- MOSFET
P- MOSFET P - MOSFET
(IGBT) ,
(b) : JIGBT NMOS
,IGBT N
lc Uae
NMOS Uce
, Usewy - NMOS , NMOS
PNP ,PNP , IGBT
,PNP JIGBT
IGBT MOSFET GTR MOSFET
, , i GTR ,

224 -

8 - 25(a)

MOS
IGBT

; T, Ta
(GTO), (GTR)

(1GBT)

(GTR) , ,

, P- MOSFET MOS
8-24 N P- MOSFET
PNP
Uce

8-24 P-MOSFET

, NMOS



8-25 (IGBT)

: 50 A IGBT : IGBT
, (1PM)
872 ( )
8- 26
8 - 26(a) (IGBT) (0)  uo
, L D IGBT , L ) R ,
U, 8 - 26(3) , IGBT , Uo= Us:IGBT ,Uo=0 U,
U = — T Us = qU 8-9
L — Ton + Toff S ™ q S ( - )
,q: Tm (/Ton + Toff) y IGBT y q, U|_
8-27 IGBT , L
IGBT , Us L ,L
] IL ] C RL y D
;o 1GBT , L ,
a— ’ IL ) C ) uC ’
,1IGBT L )
L i 8 - 27

225 -



Ton Toff y I—

IGBT ,

Win = W

8-1 (1)

(2)

(3)
8-2 8 - 8(a)

226 -

Win: USILTon
W(]Jt: ELILToff :(UO = US) ILTdf

_ Ton + Toff

UO - Toff US g US

8-4

, KP100 - 3 ,

300 V,

IGBT

400 V

(8 - 10)



(1)
?
(2)
(3)
(4)
()

? ?

Usg =20V, Uy =0 7 V, n=036,
Uss =15V, ?
?
?
2 2
13 H? I)
60 V, 30 A
, R =10Q, 220 V

u, = 141sin wt V,
?(2) 3 1200

18 Q,

(1)

a =60

220 V

227 -



8- 13
8 - 14
8 - 18
Uo
URM
8- 26(a)

228 -

Us=12 V, T,, =

u =311snwtV
Uo

6ms, T,z =2 ms

a =60
UFM



1.1 ( 10", n )
11

10;11:12;13:15;16:18;2.0;22:24,27:30
+ 5% E24

33;36:;39:43:;47;51;56;6.2;68;75;82:91
+10 % E12 10:12:15:18:22:2.7:33:39:47:56;68:82
+ 20 % E6 10:15:22:33:4.7.68

, 11
1.1
12

229 -



12

0 10° 7 10’ +01%
1 10* +1 % 8 10®
2 10° + 2 % 9 10° +50 %, - 20 %
3 10° + 5 9%
4 10 + 10 %
5 10° + 05 % + 20 %
6 10° +02%
2.
13
13

+5 % 100 pF 1pF 10,1 5,22,33,4.7,6 8

~
N—r
+

+10% [1uF 100pF
20 %

1,2,4,6,8,10,15,20,30,50,60,80, 100

I+

10,11,12,13,15,16,18,2.0,
+5 % 22,24,27,30,3.3,3.6,3.9,4.3,

( )

47,56,60,68,7582,91

10,12,15,18,22,2.7,33,3.9,

= 10% 4756,68,82
+ 20 % 10,1522,33,47,638
+ 10 %
+ 20 %
+ 50 %
20 9% 10,1522,33,47,638
+ 100 %
- 30 %
14
14 ( V)
16 4 63 10 16 25 32 40 50 63
100 125" 160 250 300° 400 450 500 630 1000
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m(10°°) u(10°°) n(10°°) p(10°*) 4 n7
47x 10°° F=4 700 pF;33 n 33x 10" ° F=0 033p F;4p7 4 7 pF
, 1, pF: 1, uF 3 300 3 300 pF;0.022
0 022uF
: pF : :
10", n 9, 10! 223 22x 10° =22 000 pF=0 022 F, 479
47x 10" =4 7 pF

2
21 ( GB249—89)
A N P
B P | \
C N w
D P |
A PNP C
B NPN yA
C PNP L
D NPN S
E K
X
G
3AG1 D
A
T
PNP o,
<3 MHz, : <1W; : > 3 MHz; : 2 1W
EWB : (EIA)

231 -



22 (EIA)

PN N EIA
EIA ABCD
JAN 1 N EIA
( 2
J) 3 PN
n n PN
JAN 2 N 3853 C
L2N355BC
EIA
EIA
3
31
2AP1 16 20 40 150
2AP7 12 100 150 150
2AP11 25 10 40
2CP1 500 100 3 kHz
2CP10 100 25 50 kHz
2CP20 100 600 50 kHz
2CZ11A 1000 100
2CZ11H 1000 800
2CZ12A 3000 50
2CZ12G 3000 600
2AK1 150 10 30 < 200
2AK5 200 40 60 < 150
2AK14 250 S0 70 < 150
2CK70A E 10 A-20 A - 30 <3
B- 30 B - 45
2CK72A E 30 C-40 C-60 <4
D- 55 D-75
2CK76A E 200 E-60 E-90 <5

232 -



32

U, vV I, A | omac THA r; O o (M /) P W
2CW51 25 35 71 < 60 > -0 09
2CW52 32 45 55 < 70 > -0 08
2CW53 4 58 10 41 < 50 006 004 02
2CW54 55 65 38 < 30 -003 005
2CW56 7 88 27 < 15 < 0 .07
2CW57 85 95 26 < 20 < 0 .08
2CW59 10 118 5 20 < 30 < 0.09 0 25
2CW60 115 12 5 19 < 40
2CW103 4 58 50 165 < 20 -006 0 04 1
2CW110 115 12 5 20 76 < 20 < 0 .09 1
2CW113 16 19 10 52 < 40 <011 1
2DW1A 5 30 240 < 20 -006 0 04 1
2DW6C 15 30 70 <8 <01 1
2DW7C 61 65 10 30 < 10 0 05 02
33
B he leo MA loe A Pow MW | Ueeo Y | fr MHZ
3AX51A 40 150 < 500 100 100 > 12 .
3AX55A 30 150 < 1200 500 500 > 20 502
3AXSI1A 30 250 < 1000 200 200 > 10 > 6kHz
3AX81B 40 200 < 700 200 200 > 15 > 6kHz
3CX200B 50 450 <05 300 300 > 18
3DX200B 55 400 <2 300 300 > 18
3AG54A > 20 < 300 30 100 > 15 > 30
3AGS7A > 10 < 50 50 300 > 15 > 500
3CG100B > 25 <01 30 100 > 25 > 100
3CG120A > 25 <02 100 500 > 15 > 200
3DG110A > 30 <01 50 300 > 20 > 150
3DG120A > 30 <001 100 500 > 30 > 150
3DD11A > 10 < 3000 30A 300W > 30
3DD15A > 30 < 2000 5A 50W > 60
3DKS8A > 20 200 500 > 15 > 80
3DK10A > 20 1500 1500 > 20 > 100




34

3D0O4 3D0O2 3DO6 3D0O1
( ) ( ) ( )
I oss uA 05 10 15x 10 <1 <1
Ussoffy Vv < |1 9]
Uss(in) v <5 -2 -8
Res Q > 10’ > 10° > 10° > 10°
On MA YV > 2000 > 4000 > 2000 > 500
fm MHz > 300 > 1000
U sr)ps Vv 20 12 20
Urics V > 20 > 20 > 20 > 20
Pom mwW 1000 1000 1000 1000
:3D01 P N ( : Ugs(th) Ues(th) )
35
BT33A | BT33B | BT33C | BT33D
Res kQ Ugg =3V, Ig =0 2 452 45|>45 13>45 12
n Uss =20 V 04 09045 0903 09|03 09
o HA Ugg =20 V <4 <4 <4 <4
lv mA Uge =20 V >15 >15 >15 >15
Uy \Y% Uge =20 V <35 ]| <35 <4 <4
Ues V Uss =20 V, Ie =50 mA <4 <4 <4 5 <4 5
leo uA Uggo =60 V <2 <2 <2 <2
E,B, Ues, o % leo = WA >30 | 260 | 230 | =60
Pem mwW 300 300 300 300
36
KP5 KP20 KP50 KP200 KP500
Urrm \% 100 3000 | 100 3000 | 100 3000 { 100 3000 | 100 3000
Urrw \% 100 3000 | 100 3000 | 100 3000 [ 100 3000 | 100 3000
U \% 12 12 12 08 08
I A 5 20 50 200 500
Iy mA 40 60 60 100 100
Us \% <35 <35 <35 <4 <5
le mA 5 70 5 100 8 150 10 250 20 300
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41 GB3430—89)

T|7TTL c|l o 70 F

H| HTL G|-25 70 |B

E | ECL L|-25 8 |H

c | cmos E|-4 8 |D

M R|-55 8 |3

Y M|-55 125 | P

F S

W K

B T

J C

AD| A D E

DA| D & G

D

sC C F 741 C T

ss T

SW 0 70
EWB (NATIONAL SEMICONDUCTOR)

LM

, 4 2
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D / N
/ W00, W01
F0O, FO1 W06, W07
F06, FO7
43

ADC HS SF FET
ADS IDM (2901) SFW

AEE IMP ( ) | SH

AF INS (4004 8080A) SK

AH ( ) IPC ( ) SL

ALS ISP ( / SM CMOS
AM ( ) M —M38510 MY LED
BLC LED LED NH ( )
BIMX LF ( ) NMC MOS

BL X LH ( ) NM H

C CMOS LM ( ) NS

CD CMOS(400 ) LP NSA LED

CIM | CMOS MA NSB L ED ( /
COP MAN LED NSC| LED (
DA AD / MCA NSC (800)
DAC / MF NSL LED( )

DB MH MOS( ) NSL

DH ( ) MM MOS( ) N (

DM ( ) NSM LED— SPM

DP ( ) NSN LED— () X

DS NSW PNP NPN IN TBA (

DT PAL TDA
DISW PNP TRC

EQ RA U FET
FOE RMC uP

FOR SC MP

FOT X
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CF741
(Foon CF7650 CF3140 CF715 CF3078C
* Uge(Up) V + 15 +5 + 15 + 15 +6
Ao B 106 134 100 <) 92
Uo MV 1 + 7x 10°* 5 2 13
lo A 20 5x 10 5% 10" 70 6
lg A 80 15x10°° 10°2 400 60
Ugrex V + 15 +26,-52|+125,-155 + 12 +58,-55
Ugex V + 30 + 8 + 15 + 6
Kour OB 20 130 90 7] 110
r MQ 2 14 1 5¢ 10° 1
GB MHz 1 2 45
B W k) 05 25 9 10, (A, = - 1)
52
CW7805 | CW7815 | CW78L05| CW78L15| CW7915 | CW79L15
Uo V 48 52144 15§48 52144 154 -144 -1586
Uimx V 35 35 30 35 - 35 -35
lanac A 15 15 0.1 01 15 01
A Uy YV 3 11 55 130 11 200( )
v ) U= . V= a -
7 25V [175 V|7 20V [175 0DV -175 -3V
A Us oV 15 12 11 25 12 25
o ) lo=5mA| lo=5mA|lo=1mA| lo=1mA|lo=5mA|lo=1mA
15A 15A 100 mA| 100 mA 15A 100 mA
A Uo (fnV /) +06 + 138 -0 65 -13 10 -09
: ) lo =5 mMA, 0 125
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RC
RS

first-order circuit

second-order circuit PN
two termina network P
diode JK
diode clamp D
binary system

binary counter

RC sdection frequency network
RS flip - flop
N - type semiconductor
N channe
gate circuit
AND gate
NAND gate
and - or - invert(AOI) gate
Great transistor
tri - state logic gate
three - phase rectifier
three - phase circuit

branch
branch current method
neutra point
neutral conductor
center processing unit(CPU)
mutua inductance
Watt
power meter
reactive power
Weber
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binary coded decimal system(BCD)
PN junction
P - type semiconductor
JK flip - flop
D flip - flop
decimd system
decima ocounter

three - factor method
three - phase power
three - phase three- wire system
three - phase four - wire system
three - phase transfor mer
three - phase induction motor
triangular connection
triangular wave
operating point
interference
rise edge
fall edge

counter emf
opposite in phase
feedback control
open circuit
open - circuit voltage

switch
block diagram
bistable flip - flop
astable flip - flop

passive two - termina network



passive inverter
output transformer less(OTL)
cireuit
output capacitor less( OCL) cir-
cuit
output transformer less
(OTL) power amplifi-
er
output capacitor less
(OCL) power am-
plifier
complementary symmetry
power amplifier
backward redstance

postive pole
podtive direction
snusoid
sinusoidd current
node
node vatage method
work
power
power factor
power triangle
power angle
eectric energy
eectric charge
eectric fidd
eectric fidd intensity
eectric potentia
electric potentid difference
potentid rise
potentia drop
potentiometer
voltage
voltage triangle
electromotive force( emf)
source
voltage source

current source

backward bias
reverse breakdown
inverter
feedback
feedback coefficient
minority carrier
discrete circuit
decibel (dB)
frequency division
resolution
threshald voltage
counter

Karnaugh map

circuit
circuit analysis
circuit element
circuit model
current
current density
current transformer
resistance
resistor
resistive circuit
resistivity
conductance
conductivity
cgpacitance
capecitor
capacitive circuit
inductance
inductive circuit
bridge
electric machine
el ectromagnetic torque
electrica degree
armature
armature reaction
armature winding

dectrical measurement
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electromagnetic instrument
electro dynamic instrument
average value
average power
symmetrica three - phase circuit
main flux
external characteristic
transmitter
separatdy excited generator
programmable contraler( PLC)
programmable logic device( PL D)
electron device
inductance filter
capacitor filter
current amplification coefficient
voltage amplifier
voltage gain
voltage comparator
potential transformer
voltage transmission characteristics
master - slave flip - flop
distortion

Ampere
ampere - turns
Vat
volt - ampere characteristic
effective vaue
active power
aternating current circuit(a - ¢ circuit)
aternating - current machine
sdf - inductance
self - induced emf
autotransformer
self - excited generator
automatic control
automatic regulation
sdf - locking
negative pole
load
load line
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read only memory(ROM )
brush
electricd angle
e ectron device
electric shock
forward resistance
forward bias
positive feedback
sinusoidal o<cillator
positive logic
breakdown
emitter
light - emitting diode(LED)
Boolean dgebra
haf - wave controlled rectifier
haf - wave rectifier
haf - adder
semiconductor
intrinsic semiconductor
offset voltage
offset current
average delay time

negative feedback
dynamic redstance
pardld connection
pardlel resonance
shunt d - ¢ generator
shunt d - ¢ motor
shunt field winding
synchronous generator
synchronous motor
synnchronous speed
in phase
torque - speed characteristic
over excitation
Servo - unit
transfer function
transducer
closed loop control

loop



network maority carrier

conductor astable multivibrator
admittance autot ransformer
step voltage automatic control
law of total current sdf - locking
complete response free eectron
full - wave rectifier sdf - excited oscillator
full - wave contraled rectifier sdf - bias
full adder on
common - mode sgnal conductive channe
common - mode input “ ” cxclusive - OR gate
common - mode reection ratio (CM- asynchronous binary counter
RR) synchronous binary counter
common - emitter configuration “ ” exclusive - NOR gate
covaent bond cross - over distortion
dynamics field - effect transistor( FET)
impurity anode
diffusion cathode
load photo - sensitive resstor
negative feedback photodiode
load resistance transmission gate( TG)
load line transfer characteristics
negative resistance mechanicd characteristic
negative logic travel switch
pinch - off voltage M axwell

multistage amplifier

Kirchhoff’ s current law(KCL) time- deay reay
Kirchhoff’ s voltage law( KCL) exciting current
Coulomb field rheostat
HenryO two - phase induction motor
angular frequency two - power meter method
series connection servomotor
Series resonance stepping motor
series fieddd winding step angle
impedance system
impedance triangle initid vaue
counter torque initid phase
initial phase operational amplifier
time constant low - frequency amplifier
time doman anadysis angular frequency
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clock pulse
sequentia logic circuit
decipherer
impedance
impedance transformation

Impedance transformation

direct current circuit(d - ¢ circuit)
direct - current machine
Farad
no - load
open - circuit characteristic
ar g
nonlinear redstance
non - sinusoida periodic current
controlled source
transformer
ratio of transformation
rheostat
line valtage
line current
coll
linear resistance
period
reference potentid
parameter
apparent power
stator
rotor

rotor current

phase

phasor
phase voltage
phase current
phase difference
phase angle

phase sequence
phasor diagram

response
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resistance - capacitance coupled
amplifier
interception
barrier
sample and hold

dip
speed
torque
switch group
braking
single - phase induction motor
hole
pace - charge layer
fixed - bias
direct - coupled amplifier
monostabl e flip - flop
unijuction transistor(UJT)

metd - oxide - semicon-

ductor( MOS)
“ ” NOT gate
nonlinear distortion
“ ” OR gate
“ 3 NOR gate
saturation

transfer characteristic
timer
reference voltage
combinationd logic circuit

star connection
complex number
I mpedance

compound d - ¢ generator

Ohm

Ohm’ s law

equiva ent circuit

qudity factor
insulation



insul ator
salient poles rotor
tachometer generator
winding
wound rotor
starting
starting current
starting torque
start button
penetration current
gate grid
recombination
Darlington
reset

capacitive reactance
Norton’ s theorem
Gauss
prime mover
primary winding
core
core loss
rectangular wave
characteristic equation
integrating circuit
efficiency
oscill tory discharge
relay
therma overload relay (OLR)

commutator

secondary winding
copper loss
fundamenta harmonic
harmonic
resonant frequency
bandwidth
ided voltage source
ided current source
attenuated oscillation

differentid amplifier

differentid - mode signal

differentia - mode input

isolated - gate field - effect tran-
sistor(LGFET)

quality factor

pulse

pulse circuit

pulse width

pulse amplitude

pulse period

pulse leading edge

pulse trailing edge

regul ating characteristic

speed regulation

relay - contactor control

bridge rectifier

bypass capacitor

emitter follower

emitter coupling

oscillator

oillation frequency

depletion layer

MOS
carrier

silicon

depletion mode MOSFET

Zener diode

peak point

normally open contact

normaly closed contact

stopping

stop button

receiver

contactor

contro motor

contra circuit

rotating magnetic field
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non sdient poles rotor
logic gates
logic circuit
base
control grid
current bias
biasing circuit

imaginary ground

eddy current
eddy - current loss
Joule
Oersted
short circuit
sawtooth wave
amplitude
maximum value
maximum (breakdown) torque
lag
lead
Fourier series
transient state
transient component

unattenuated o<cillation

inductive reactance
induced emf
Lenz' s law
frequency
frequency domain anaysis
spectrum
input
out put
microfarad
differentiating circuit
superposition theorem
zero - state response
zero - input response
shaded - pole motor
dip ring
244 -

holding current
RS basic RS flip - flop
random access memory
register
shift register
Clear
doped semiconductor

interlocking
logic gates
logic circuit
base
contra grid
current bias
biasing circuit
Imaginary ground
holding current
RS basic RS flip - flop
random access memory
register
shift register
Clear

squirrel - cage rotor
cutoff angular frequency

filters
source
digital circuit
digital integrated circuit
digital display

digital - anaog converter( DAC)

multiplexxer
demul tiplexer
input resstance
output resistance
zero drift
trans conductance

flip-flop



magnetic field
magnetizing force
magnetic circuit
flux
flux density
magnetomotive force (mmf)
reluctance
permeability
magnetization
magnetization curve
hysteresis
hysteresis |oop
hysteresis loss
pol
magnetoelectric instrument
leakage flux
leakage inductance

rated vaue
rated voltage
rated power
rated torque
instantaneous value
Thevenin' s theorem

excitation

leakage emf
Hertz
steady state
steady state component
static resistance
carbon brush
source
filter
digital circuit
digital integrated circuit
digital display

digital - analog converter (DAC)

multiplexxer

demultiplexer
input resstance
output resistance
zero drift

full load
slot
fuse
instantaneous power

rectifier circuit

M OS enhancement mode M OS-
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